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MARKING SCHEME 

ADDITIONAL MATHEMATICS PAPER 2 

 

N0. SOLUTION MARKS 

1 4x y         or     4y x   

2 2( 4) 10y y          2 2( 4) 10x x    

22 8 6 0y y           22 8 6 0x x    

( 1)( 3) 0y y          ( 3)( 1) 0x x    

1x      and   3x    (both) 

3y      and  1y     (both 
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1 2 3 4 5 6 

10log y  0.47  0.61 0.76 0.91 1.05 1.20 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

10 10 10log log logy x k h   

10log k  = *gradient 

h = 1.40   

 

 

 

10log h  = *y-intercept     

      h =  2.09 
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    values of log y  

 

K1  Plot 
10log y  vs 
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N0. SOLUTION MARKS 
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1 4
sin

2 6
   

 

 = 1.46 rad 

  

 

6(1.46)EFS          

 

= 8.76 cm                     

 

 

 

Perimeter = 8.76 + 2(6) + 2(6) + 2(8) 

        = 48.76 cm 

 

 

 

 

Area of sector OEF = 21
(6) (1.46)

2
=26.28 

 

 

Area of rectangle = 48 

 

 

 

Area of the shaded region = 48 – 26.28 

                        = 21.72 cm
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N0. SOLUTION MARKS 
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2 2 8x x   
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Note : If use area of trapezium and  dxy , give marks accordingly. 
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N0. SOLUTION MARKS 
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N0. SOLUTION MARKS 
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N0. SOLUTION MARKS 
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N0. SOLUTION MARKS 

13  

   15   iii.           

2   ii.           

60    i.            

:nketaksamaa Tiga  a)  




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x

yx

yx

 

 

 At least one straight line is drawn correctly from inequalities 

involving  x  and  y. 

 All the three straight lines are drawn correctly.                 

 Region is correctly shaded. 
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